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ACCOUNTANCY

For New Course Students
Full Marks : 80

Pass Marks : 24
For Old Course Students in lieu of Project works
' Full Marks : 100 2
Pass Marks : 30

Those who appeared H S Final Exam till 2023
have been treated as Old Course students

Tlme Three hours'

The figures in the margin indicate full marks
for the questions.

" For New Course :

X0, \NB; 1@ Giiisanin BRI S8t 10 08.) L i O EDa 1x4 = 4
(/) (RO LIRRNCI AL RE 41wt LSRG | I 1x2 = 2
AT () PR R v L WL IO, 1x2 = 2
Q. Nos. 2-7 carry 2 marks each ........c..iuvvvisiverrscivennanae 2x6 = 12
Q. Nos. 8-11 carry 3 marks each ........... ot o e 3x4 = 12
Q. Nos. 12-15 carry 6 marks each ......... B A 6%4 = 24
Q. Nos. 16-18 carry 8 marks €ach ................ccovcivviiss 8x3 = 24
‘ Total = 80

For Old Course (in lieu of Project Works)
Q. No. 19 carries 5 marks ench (any four) ................... 5x4 = 20

Total =100
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1.

(@)

(b)

34T ACOU

Fill in the blanks With appropriate word/words : (any fauri
: i 1 x4=

%ﬂqéﬁwﬁﬁ%w°(ﬁmmmﬁﬁr)

() Partners current accounts are p1 epared when the capltal
accounts are };fzﬁ,i.

A RpIePTR ‘”i’cwa%wwsﬁsﬁma@@wm

(i) Company has a sepal ate LL%OJ entity apart from its
members. N |

Wﬁﬁﬂﬁw—ﬂwaﬁ‘m o} 524

(i) Current ratio is the relationship between current assets

g 2ACE |

and ;

bfeTe SRiite B%i@ Teoif i 3 IS P |

(iv) Equity shareholders are A\WONeN3of a company.
AT T B! (I = -

(v) At the time of dissolution of partnership firm, assets are
transferred to Realisation Account at ook  value.

TR 2fodAT SRR e TR UM et
TS I W

State whether the following statements are ‘True’ or ‘False’:
1x2=2

oY CeR@R OF (7 Suw 7 e
(i) Debentureholders do not have right to vote in the
meetings of the company.

QTR T @i fftee/Tore o i SifEeR a1 QAT |
(ii) Premium for goodwill is shared in gaining ratio.

W@ﬁﬂm%@ww@ﬁﬁW@l
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(c) Choose the correct alternative : : 1x2=2
w7 TG AT 9 8

() The portion of the authorised capital which is offered to
the public for sale in the form of shares is called

SIS TEETR R S Gl SRAPE S Kl A
TSR 2, OFF @l =7

(@) subscribed capital
GIISRES ﬂfrém

(b) issued capital

e Eem

(c) called-up capital
o

(d) paid-up capital
lGrEoR G

(i) In the absence of partnership deed, the rate of interest"
allowed on partner’s capital is

SIS B I, W\W‘{?‘TW ewmwwmm
\9)/ 6%
(b) 5%
‘ (c) 6.5%
(d) None of the above
89[FT B8 W

5}2, What is meant by re-issue of forfeited shares ? 2

\y
7 e SR sje Riferead T R ge ame
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3. Write any two demerits of partnership business.
SR T R zﬁf@iﬁm et

4.~ Mention two features of 2 debenture O 1_@&3 no4 c@}tw& .....

Yool 77 Ay Trerd | \mwﬂ 'mah* T e

ervent of
@'U TL an @cunowlﬁ“! R/ 734 Shayuy
deb} 0¥ loan +4KeN by Q Com fany,

Write the meaning of ‘Cash flow from investing act1v1tles

_ﬁﬁmﬁmﬂawmzfﬂ’ﬁwwﬁw&am

, @ Give two cucumstances under wh1ch the fixed capltals of par tnerZS |

may change.

‘W\WW%W@WQWWWWWI el
OR/ZW SE

Why is Profit and Loss Adjustment Account prepared ks W e
 GIS-(EATR TREAEH fRpiet (7 2o T 2 Ry

/ What is meant by calls—m-advance ? L : 2 i

i Oy, W R ge W

\ ,r,"": ; A ‘ 2 Tk e
\/ 7% Mention two limitations of financial statement analysis.
5t Al

e elfsrame Resae WWWWI |

erpbinehity analyey

y ! 3 OR / 723

® L'ty Analysty

What is meant by the term ‘cash equivalents’ ? ' 2

‘?{WW’WW%{Qwﬂ

8. Write three situations when a partnership firm is compulsorily
dissolved. .3

AR TR AT S (e [ AR s

34T ACOU - | [4]




s i 9

Give any three items that cgn be shown under the heading
Reserves and Surplus’ in a company’s Balance Sheet. 3

4B @A TgerTs e oy sy TR Fee 9fiTe orgER A
W%WWWI

3:1 and liquid ratio is 1.75: 1, Calculate the current assets and -
liquid assets. | 3

451 AR S G AR 2 3,50,000 1 T @IINGR BFe el
3:1 W% O AT 1.75: 1 &, WWWWWW‘T?I@

|
OR / 7zt

Mention any three objectives of preparing comparative statement. 3

TN ST SRR RieIc [orb! Sry e |
OR / 7%

What is computerised accounting System ? : - 3

TS @RI AwfS T e

‘A and B are partners sharing profits and losses equally. They have

admitted C into the firm. A has surrendered 1/3 of his share and
B has surrendered 1/6 of his share in favour of C. Ascertain the
new profit sharing ratio. 3
A TR B TEH ST i remwar—mwwﬁm| SETET
CT o ST B5I0el e | A (989 g 1/3 % B-(A (969 SR*R
1/6 S C (& eyl TR T e IBg See Wefm 1|

34T ACOU [5 s i Contd,

Ry ) 1\ R2don e ;\D VAN UANY fadelive.
O A By ~ g
J’-F> A \ 1‘ '--_! Y5 OR/W
Ay eab A S B
s
‘Name any three items of current assets 3
Ricleal Fﬁﬁfﬁ%’ ﬂﬂvﬁ%a -
) \\[?Ta% \ «;k\\ YY ) A @) 'T\‘«’Mff:ﬁf'”
- I r"J{ .-l|[1
" Current 11ab111tles of a company are ¥3,50,000. Its current ratio is i
tlao



 OR/7=

//Eéplam in brief the ‘average Profit method’ of goodwill valuation. 3
/ ‘

k.

e R e T A (OO g
L ~. OR / 739

.". ,{'," " ; \ : .( :
‘?ﬁi\te three advantages of using graphs. : 3

o T o e Bl

L 4

@ Prepare a Commonsize Income Statement of Maina Ltd. from the

following informations : , 6

WGWWWWWWWWMW

Particulars 2022 2023

(Ree) | | - &) §
Sales (Re) ' 1,05,000 | 1,10,000
Sales Returns (R& Ze) - 5,000 ‘ 10,00-0

Cost of Goods Sold (Rl 3= A< ??JT,{“‘U) 70,000 74,800

Office Expenses (I 2<5) 3,000 | 3,200
Non-operating' Incomes (SRIEHHG W) . '§,000. 6,600
Non-operating Expenses (SR aﬁf;‘) l 1,000 1,100
Income Tax Rate (WFTF<T ) S0% 50% '

34T ACOU : [6]



OR / 7z

Explain in brief the tools of fingncial analysis. 6

ﬁ@ﬂﬁmﬂﬂmwaﬁW|
OR / 7z

Explain the concepts of ‘data validation’ and ‘data verification’. 6

Bib! (SFTTE W% Ol (SRR (el 9 <=t |

~

~" 13.”Give Journal entries in the books of Pakhi Ltd. for issue of

5\

debentures under the following situations : 1+1+1+1+2=6

.+ oo o TR R AR e 7R i R 1 e 4R o

(a) Issued 5,000, 8% debentures of 100 each at par redeemable

at 5% premium after 4 years.

5,00051 100 TR 8% Ydol@ Fwgqe R o R 4 I w0 5%
wiggEe ARSI |

(b) Issued 6,000, 9% debentures of T 100 each at 5% premium,

redeemable at par after 4 years.

6,00051 100 TII 9% 7@ 5% wifzzes R o3 f 4 =1 o2
TGO ARCNG |

34T ACOU [7] , " Contd.



(c)

(d)

(e)

Issued 7,000, .10% debentures of g 100 each at 5% discount,
redeemable at par after 4 years,

7,00051 100 TRl 10% AW 5% <Ge B w7 4 IEW RO
Issued 8,000., 10% ‘c‘ieb'entures of 2100 each at 5% premium,

redeemablé at 10% premium after 4 years.

8,0008 100 5l 10% 4719 5% Sfiges RfE w0 {1 4 T2 Frze.

10% Sif4gRe #Af[eetiea |

Issued 5,000, 9% debentures of ¥ 100 each to the vendors for
purchasing a machinery of % 5,00,000. ‘

5,00,000 51 TS 7R A Reerois 5,000 100 TR 9%  delola
& 31 '

OR/ %!
Give six points of distinctions between a shafe and a debenture.
6
GR¥AG T WA NSO A/ 257 wANef SoIRCDIRT | '
OR/ 7%l
Explain the applications of Spreadshgeet'in Accounting. o

WW ‘Spreadsheet’™S W?{Gﬁ F4 |

34T ACOU
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14. Susanta, Ananta and Diganta were in partnership sharing profits
and losses in the ratio of 3:2:1. On 1.1.2023. Susanta retires
from the firm. On that date Balance Sheet of the firm was as
follows : &

P, TG OIS T 3:2: 1 wppres AS-CIRON Rew@if @3 sifoviAg
W\WW|112OQSWWWWWW|m§W

AP Tgo-Aads wete Al el wifeE |
Balance Sheet (@'a_@""_\@)
Liabilities (¢7T) MR Assets (7>if6) S
Creditors (AISTMR) 50,000 | Cash at Bank ((%&F® &¥l) - 6,000
Reserve Fund (f%® 4f%) | 60,000 | Debtors (CAMi) 1,50,000
Capital (i) Stock (¥E©) ' 36,000
Susanta = 80,000 ' Furniture (53R) 24,000
(%) Land and Building ($f @1% ©) | 80,000
Ananta = 60,000
(B7E)
Diganta = 40,000 ‘1,80,000
(@) _
2,90,000 2,90,000

The terms of the retirement were:

SRPRY TR iR 3

(i) Goodwill of the firm were valued at ¥ 1,20,000
SfSHITT IR T 1,20,000 Tt 31 (2feE

(i) Land and Building to be appreciated by ¥ 20,000

il o% ©9 20,000 TR Jf@ IR =Aes!
(iii) Provision for Bad Debts to be made @ 2% on debtors

GRS 89T 2% SFRIRAI T IR I-Y A 2]

34T ACOU - [9] Contd. .
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N

(iv) Furniture to be dépreciatEd by 24,000

IR @S 4,000 WW 4 91 29

(v) Susanta’s capital is tO be transferred to his’;Loan Account
PR R (Sew 4l O BieT w1 2 |

G1ve Journal entries relatmg to the above transactions.

%ﬂm@ @mﬂq@wmﬁﬁﬁﬁm

OR / %a

Explam how the amount due to a deceased partner is ascertained ’? 6

a@wq—@ﬁwwﬁquﬁm%mﬁwqu@a@wl

DlStlng'LIISh between d1ssolut10n of partnersh1p and d1ssolut10n of
firm. 6

wzﬁm@s-mﬂmmw&%a}wwww@wsﬁwﬁ
OR/ 7% s

Ravi and Vicky are partners in a firm sharing proﬁts and losses in
the ratio of 3:2. They decided to dissolve thejr firm on 31st -
December, 2022. Their Balance Sheet on that date was as under :
IR o [RF 31 2 Sl Fie o= R 27 . < T S |
(ST 31 TR, 2022 wiFd® WWWWWWI @2
i WWmeTﬁmw«w% ;

Balance Sheet (¥39%@)

Liabilities (@=l) - g - Assets (7€) | O
Capitals (JF7&H) : 3 Furniture (S63R) | 16,000
Ravi (3f) 17,500 Investment (RR@) | 4,000
Vicky (RR) 10,000 | Debtors (M) | 2,000
Creditors (#=I7I) 2,000 Stock (Tg®) 3,000
Profit and Loss A/c 1,500 Cash at Bank . 6,000
(T~ 25171) - (G )

| 31,500 ‘ 51000

34T ACOU [10]



Ravi took over the investments at an agreed value of 2 3,800, Other
assets were realised as follows

Furniture — 218,000
Debtors — 90% of Book value
Stock — 7 2,800

Creditors of the firm agreed to accept 5% less. Expenses of
realisation amounted to 7 400, Close the firm’s books by preparing

a Realisation Account, Partners’ Capltal Accounts and Bank
Account. 6

< 3,800 G ﬂTﬂ“TrﬁﬁWﬂuem?mmuwwmwﬁm
t 0 I L o | B

g6 — 18,000 5
(A — FETEA 90%
Tge — 2,800 G
AR AT 5% FolF 27| Ffam ATS F| FHMETATA 475 400

Bl tofw | JEmEREd fZ2eiet, wimEa Jadn 251 ame @ e aee 3@
A f2piFa 22Tz 7% Al

16. Anvi Ltd. has issued 10,000 equity shares of 210 each at a

premium of 22 each payable as follows : . 8

On Application - 22
On Allotment — 25 (including premium)

On First and Final Call - 25

The shares have been fully subscribed, called up and paid-up
except the following :

(a) Allotment and First and Final Call money on 500 shares held
by Ritu, and

(b) First and Final Call money on 600 shares held by Jitu.

All these shares have been forfeited and re-issued at 10% discount
as fully paid. :

Give Journal entries in the books of the company.

34T ACOU [11] Contd,



Anvi TGS @fogm 10 T3 09 10,000 < ticei=rg A< 2 5 SIEEaS
Rt <ot i e et firmt 490 ATy < =i -

IR TS — 2 5
SRS T — 5 5 (TR TI)
2 W JBIg W AT — 5 T

SR A F>pef ef o 2, Cﬁﬂr@@m—vﬁwﬁw'ﬁ_ﬁm
S A i AR A e S IR o ¢

(@) 500 W T 4= g 70 “AETR RSB Wi 2i2 Ol TOG ST

(b) 600 viawwmwwwwﬁméwmm—a«ml ‘
4% A e e 9 2 W 10% @Wwﬁwﬁmﬁ
o7 Rfer PR

@A AR e @R

OR / 7zdt

Jf/ For what purposes ‘securities premium’ can _'be'use_d ? 0 B
\Mrite three distinctions between equity éhare and preference

share. : _ g
TR S RS wgeiofa’s SIS 4! DT AL i
OR/#ZA
What are the steps involved in installation of computerised
accounting system (CAS)? 8

FHTHIFe M\WW@WM—WWWT%%?

34T ACOU i NI




17. Mihir and Karan are partners i, 5 firm sharing profits in the ratio
bl 3:2. 0n Aprild, 2022 their Balance Sheet was as under :

3+3+2=8

fifza s T4 32 2 SIS wfe g8y qun AfoPRT SR 1 «fge, 2022
SIS (DS TFE a3 oTw T e ST 8

Balance Sheet (@@_‘9{—_)

Liabilities (¢@l) 3 Assets (T1f8) Z
Sundry Creditors 185,000 | Bank (BF) 10,000
(kg (i) ‘ Stock () | 22,000
Capitals (&) : Plant and Machinery 40,000
Mihir (%) = 70,000 (IR T TFATS)
Karan (<) = 60,000 | 1,30,000 Building (T-a"slff) 11,00,000
Goodwill (FFI%) 20,000
Debtors ((MR) - 24,000 '
Less : Provision (I7%)) - _l,gog : 23,000
2,15,000 2,15,000

34T ACOU

On the above date, they admitted Sunil as a new partner on the
following terms :

TEIE Oifds c@@mw—%@ﬂws—ﬂq@%@ﬁmww\w
fRoieet ©fS <ofeet 3
(i)  Sunil will*bring ¥ 50,000 for his capital,
G maqﬂwwsooooﬁmwﬁan
(i) He would get 1/5th share in the future profits.
(98 SRE #eq 1/5 WX &S Q|
(iii) Goodwill of the firm is valued at ¥ 1,20,000.
2fPINg I[N 1,20,000 T T I |
(iv) Sunil will bring necessary premium for goodwill.
FNCE e e R o e |
Pass Journal entries to record the above transaction. Prepare
Partner’s Capital Accounts and Balance Sheet of the new firm.

\Q9[R] ﬁmﬁﬁ@wwﬁmlwﬁwfﬁmﬁﬁﬁm ,‘ |
T ‘2SR Ty o aFe |

[13] Contd. *



OR / i3
(i) Distinguish between Profit and Loss Account and Profit and

Loss Appropriation Account. ) | S
G- RO 21| il SIS~ AT Toirarem feptoa siea AIaeara fadi |
g (i) Mention any three rights of a partner. 3
/o el e e PR SR S i
18. Biswa and Pradip are partners in a firm. The Trial Balance of the firm
as on 31st December, 2022 Was as under : 8
R4 O 2ot @4 effding S | 31 fersa, 2022 wifivs afedmee Tge
file A94A oo e wnfee ¢ '
Trial Balance (¥7g fiemelq)
Debit ((Rb) R Credit (C&#f¥) - -
Drawings (%Ilgd) : e : Capital () :
Biswa (R¥) — 4,000 | Biswas (%) — - 65,000
Pradip (@4) — 3,000 | 7,000 Pradip (#7) — 40,000 |1,05,000
Cash at Bank (@@S ) 45,000 Sundry Creditors (R4 “ieamq)| 18,400
Sundry Debtors (R4 GFfH) 40,500 Bank Loan (®$% (i) 5,000
Insurance (?NI) Q | 19,740 Commission (3e) 300
Advertisement ,‘(ﬁ'@!‘?ﬂ) 24 9,000 Trading A/c (Gross Profit) - 57,200
Closing Stock (A7 Tge) 12,500 - ,
Cash in hand (757 1) 16,300 ’ wg.
Commission (3R) R | 5,000 : L=, 0049
Motor Car (754 48 20,860 ' éél Oﬁ \g? ;
’ i o
| Machinery (zzifé) 10,000 . - NE i
< e . ©
_ 1,85,900 5 g/ 7 l,sgégg%
Prepare Profit and Loss Account, Profs Loss Appropriation

-\Zbc ) ccount and the Balance Sheet of the fi or the year ended 31st
égroee% cember, 2022 after considering the following information :
/%mﬁm@wﬁmmaﬁm 31 fomam, 2022 Sifi¥e w@7[l I IR =re-
\ Yoop CIREH 517, FAe-(FRHH TA@EGH RpiA oiF T8 a7 oFs 3 ¢
T 2 (a) Partners are to share profits and losses in the proportion of
,i{s 00 3/5 and 2/5 respectively.
AR - CAITOIPTR TCH 3/5 % 2/5 TS SR 7| 4

“Z 02O

X
34T ACOU A ";g [14] ' \)3\0 NI
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(b) Write off depreciation @ 10% on Machinery and 20% on Motor
Car.

AT 82T 10% W= W63 oSie 82RO 20% Sy 41 iR el |

(c) Create a provision of 5% on Sundry Debtors for Doubtful
Debts.

Ry (FIMIST CoIT® FAVEEHS g AW 5% SRFe J92 7 91|

(d) Partners are entitled to Interest on Capital @ 5% per annum
"and Pradip is entitled to a salary of 1,800 per annum. -

SEAIERE 2N S%Wﬂﬁweﬁ_i—ﬁi—?ﬁﬁﬁmﬁ%@%
1800@%?@1%?@1

For Old Course: (in lieu of Project Works)
19. Answer the following questions: (any four) 5x4=20

were Rl ePTE Ol fEl ¢ (Reseret b1

(@) Write distinctions between Fixed Capital Account and
Fluctuating Capital Account. .
fi7 e oW e O e Bpio Were 2t Al

(b)) What is Ratio Analysis ? Mention any.three limitations of ratio
analysis.

L wﬂrﬁmqﬁwwﬂrﬁmqa W%WWW|

N\ objectives of preparing cash flow: staternent

g’\.;,_-,,o ammmmiﬁﬁﬁwvﬂmmwmm—m
oDD o Ty S |

& l_a“(e) Explain the average profit method of valuation of goodwﬂl
What is Revaluation Account ?

iwmmwmaﬁW|Wﬁmﬁw%s
9#"*
o, \gp (
%55 b e
34T ACOU _ [15] A0,Rbg x2¢
29*“’ loéé : ,\77
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